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37 Bv3 § & — 5. This question booklet is divided int,

two sections — Section-A ang

Section-B.

In Section-A, there are
70 objective type questions, out
of which any 35 questions are to
be answered. If more than
35 questions are answered, then
only first 35 will be evaluated.
Each question carries 1 mark. For
answering these darken the circle
with blue / black ball pen against
the correct option on OMR Answer
Sheet provided to you. Do not use
whitener / liquid / blade / nail
etc. on OMR Answer Sheet,
otherwise the result will be
treated invalid.

. In Section - B, there are 20 short

answer each

type questions,
carrying 2 marks, out of which
any 10 questions are to be
answered. Apart from these, there
are 6 type
guestions, each carrying 5 marks,
out of which any 3 questions are

to be answered.

long answer

Use of any electronic appliances is
strictly prohibited.
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A7% - 3 / SECTION - A
Tty wyy Objective Type Questions

Y §E 1 ® 70 A% & yeiw gyy arr T faweg fru oo #, faaa 7 e

W?fmmwwwﬁmwommw%wm;fwr
SGWWWF{I 35 x1 =235

Question Nos. 1 1o 70 have four options. out of which only one is correct
You have to mark your selected option, on the OMR-Sheet. Answer any

J5 questions. 35«<71=35

] 1AV &1 W@ uA @ A B R

(A), FeE / i (B) FH x et
(€ e/ g D) AW
Unit of linear charge density is
(A} coulomb/metre (B) coulomb x metre
{C) mectre/coulomb (D) none of these
2 ga &3  da@ & ol g3 a2
(A) [ MLT A" B) |MLT A
(C) | MLT A| (D) [ MLT3A™!)

The dimensional formula of intensity of clectric field is

1AY CMLT AT (B) | MLT *A !y
) 23
) { MLT 'A| D) | MLT A
T AT e Page 3 -
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8 AW W AW § Iy oAl 1 wE B

(A} 5x10' B) 25x10"

(C) 12:8x10!'° (D) 16x 10"

Number of electrons present in 8 coulomb negative charge is

(A) 5x10'° B) 25x 10"

(C) 12:8x10'° (D) 16x 10"

5 g ¥ 2 s qur fgda 3@y wer 50 A gt W@ ™ E W
s 1 gm R s @

(A) 5 x 1072 gHem-iex (B) 25 x 107 HAW-HI

(C) 1 Fam-HX (D) ¥

Two equal and opposite charges of 5 coulomb are kept mutually at

a distance of 5:0 cm. The electric dipole moment of the system is
(A) Sx 10 2 coulomb-metre (B) 25x 10 2 coulomb-metre
(C) 1 coulomb-metre (D) zero

YTq % TG M % 8 & WA % g 1 I A W A &

(A), wea®

(B) wgdl @

©) 3 & e @ fren g8 W R

(D) HEF Y @l 8
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On
m(‘)‘!‘ *
"R from the surface of a charged metallic spherc to the

Centre of
the 8phere, the electric field

(A) dt‘cn:aca
(B) Mcreageg
(C) re |
Mains same as al the surface
(D)

ZETo at all places

™ v '
N ”*m"aﬂﬁﬁgﬂfﬁatlm%ﬁﬁﬂagﬁa%ﬁmm
q/ €,

-

(B)  2q/¢,
(C
) ng/e, D) =

n electric di i i
dipoles are Situated-in a closed surface. Total electric flux

comi
ming out from closed surface will be

A)  q/e, B)  2q/¢,
(C) ng/e, | (D)  zero
ﬁ(aﬁaﬁhﬁﬁ%gaﬁga%mégaﬁna%%
(€ v (D) 3w

In broad-side-on position, the electric potential due to electric

dipole is
R I
T T T€o r
(C)  7ero (D) infinite
2A/ALXIEO00 S a1/40)] Page 5 / 42

https://www.bsebstudy.com



[ 117 |

8. UH IAET 5 92 [avaT-R Ash it fermn sl R geiee g wfHd T
grft
&) 5 (B) 5 geidgiA-aTee
(C) 53w (D) S5Sar
An clectron is accelerated to 5 volt potential difference. The cnergy
gained by the electron will be
(A) S joule (B) 5eV
(C) Serg (D) 5 watt
9. o=@ &= (E) e fagm fava (v) & o9 o 2
o e$)m ()
@ @ e e
The relation between electric field ( E ) and electric potential ( V) is
o) w e ()
o0 ) oo
10, righ W A duw feye A A P A Aga R S sEEEE
7l #
(A)s r* & B) r %
© r's (D) ¥ & #E T

24 A [ X11-5003- 31740
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The
clec , : . e
CCtrostatic energy of the system made by twa clectric dipoles

kept ' ri
Pl at a distance ' r' g proportional to

(A) 2 B
< (D)  none of these
1. T %og o 2
(A) I smaw B) @~ i i H
(C) agﬁ Tl =1 (Dj- YA FeIdH &1
Picofarad is the unit of
(A) electric charge (B) intensity of clectric field
(C) electric capacity. - (D) electric flux
12. foret gurfe 6 il fnk =8 =t 2
(A) R R AFHT | (B) TS % AR W -
(C) W& & H[Y W (D) =Rl % d9 AU |
Capacit'y of any cond:snscr does not depend upon
(A) shape of plates (B)  size of plates
(C) charges on plates (D) distance between plates
13. U T =T ) g 1-0 pF g1 3wt B gnft
(A). 1-11¥H& (B) 10 #&A
() o et (D) 1-11 9t
24 /A /XII-5003-(31/40) Page 7 / 32
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The capacity of a spherical conductor is 1-0 pF. Its radius will be

(A)  1-11 metre (B) 10 metre

(C) 9km (D) 1-11cm
14. el urg &1 wdegars 8 8

Ay -1 B) 0

€ 1 (D) 34

The dielectric constant of a metal is

Ay -1 B) O
€ 1 - (D) infinity -
15. Frafafes § @ 57 w daia g seeg 0
(A)  TwH. (B) @4

(C)e TH. 3 .. (D) A TH. AR A A A

Which of the following isblocked by a capacitor ?

(A)  AC B) DC
(C) Both ACand DC (D)  Neither AC nor DC
16. 40 W d&1 60 W s @ ¥e¥ 220 V €14 § g Id &1 3% Wl § 31qum
o .
(A) 4:3 B) 3:4
© 2:3 D) 3:2
24 /A/X11-5003-31/40) | Page 8 / 32
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18.

[117 ]

Two bulp
s of 4
O W and 60 w are connected to 220 V source. The

ratio ' i
of their resistances will be

Ay 4.3 B 3.4

C) 2:3 D) 3:9

fReft ar =1 wfy 500 Q 81 35 freg srrersar 2
(A) 0002 3ig-!

(B) 0-02 3w !
© 503wt (D) 500 3w !
The resistance of any wire is 500 Q. Its electrical conductivity
will be
(A)  0-002 ohm ™! (B) 0-02 ohm™!
(C) 50 ohm™! (D) 500 ohm™!

n WA Sl qget Afshw # au1 3% a1 gumeT wE § 12 S ¥

e auT =Hew wfedy &1 qara g

a < B) n

©- -+ @) n?
n

n equal resistors are first connected in series and then in parallel.

The ratio of maximum and minimum resistances will be

o ® n
© o) n?
n

24 /A /XII-5003-31/40) Page 9 / 32
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10 favaurd) & quRia & &g % feu

(A)  FHh T &1 WY uf=de @ &

(B)  $Ush a1 W YT N G2 gy

(C) 359 a1 ® uT ) |gEn g

(D) @& qR N s qgE B

To increase the sensitivity of a potentiometer
(A) the cross-section area of its wire will have to be increased

(B)  current in its wire will have to be decreased

(C)  current in its wire will have to be increased

(D) length of its wire will have to be increased
20. 9ga R fREs @ fida fem gery @@ i

(A) TN B Y (B)  3TaW GiEor §

(C) . FHA G& J (D) HAT W

Kirchholf's second law of electricity is related to

(A) conservation of mass  (B) consecrvation of charge
(C)  conscrvation of energy (D)  conservation of momentum
21 ffafes 4 & #1 gadE g K dea & ams 7@ L o

(A}, 75 (B)  q=y/Hie?

(C) FJ.{T{?{'/T‘T.ﬁ.t;m--Lﬁ‘ﬂ (D) R’Eﬁjﬁ@m-’

24 /A7 XH-5003 (31/40)
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_ | 117 ]
Whic :
l(,h one of 1hl' {l‘l”{}“'l!]g 1S NOt a unit of magnetic field »
(A tes )
) esla (B)  weber/metre”
(C)

newton/ampcere-metre (D) newton/ampere *
Ry €,)7"2 w1 o B

(A) 3 x 10° @ft/Aevg B) 3x 10'0 aft/Fwuz
(C) 3 x10° adft/dwue (D) 3 x 10° ferft/g=vs
The value of (Mg €, -2 s |

(A) 3 x loscm/second (B) 3 x lomc:m/sccond
(C) 3x logcmfsecond (D) 3 x 10%km/second

T GUF TEEE &9 B w6 [@3 % aAHRR W gag e e
ed, A v @ T B| FOTA T A I T

(A) euvB (B) ev/B
(C) Nl (D) Bv/e

An electron of charge e moves parallel to uniform lines of force in

magnetic field B with velocity v. Force acting on electron is

(A)  euvB (B) ev/B
(C) zero (Dy Bv/e
24/ A/X11-5003-@1/40)| Page 11 / 32
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4. =AM feen 8 gum A @ nfeae e R g9 ) gefa g@nft
(a)  HE (B) ¥yErd
(C) HHMETR (D) ¥ | &8 T8

The nature of electron beams moving with uniform velocity in the

same direction will be
(A) converging (B) diverging
(C) parallel (D} none of these

25. TwdE &3 (B) ¥ R (m) TEdE amgl o1 W 9 gRT ST
FE-aTget (7 ) %W e B |

-3 -

e
(A) t=mxB B), t=Bxm
- > —* §
(C) r:% (D) ==
B m

The value of torque (t ) experienced by current loop of magnetic

moment (m ) placed in magnetic field (B ) is
(A) t=mxB B. <-Bxm
© t= -’z—‘ D) <= é
B m
26. TENE H1 S.I. A 8
iAJ M (C) (B) @€ (V)
(C) 3H(Q) Q) & (H)

24 / A/ X1I-5003-31/40)
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S.1. unit of scll-mduction 15
A) coulomb (c) (B) volt (V)
) ohm (a) (D)  henry (H)
27 T % w3 et rirers; 1 e 4 4 Qe e TR Ao 7 A &
A wia (B) A
(€ e (D) A F
On oscillating any metallic sphere in the magnetic field, 1ts
oscillatory motion is https://www.bsebstudy.com
(A) Accelerated (B) Damping
(C) Uniform (D) None of these
,s  gEAE % ® w1 Rigi U 2
(A) T S S T (B) ﬁ—ga-qraﬁﬁwm
) @ geshed T (D) WR@ ¥R R
The working principle of dynamo is based on
(A) heating effect of current
(B) cleétromagnctio induction
(C) induced magnetism
(D) induced current
—_— 24 /A /XII-5003-31/40) Page 13 / 32

https://'www.bsebstudy.com



[ 117

vh az e & P vk qus f2m Ry wies O win e 1o g )
afe

3

(A} &ad gus nfasia @

(B) ®aw Fas nfae A

(C) s R e gl nfasfte &

(D) @& ¥R 9w & @9 amifes 1fy &

A magnet is situated near a closed conductor. Current can he

produced in the conductor, if

(A} only magnet is in motion

(B)  only conductor is in rnot.iém

(C)  both magnet and conductor are in motion

(D) there is relative motion between magnet and conductor

30. W Feelt A 4 yW uRl H A g 2
(A) fa&g (o) (B) iy (R)%
(C) =13 &F (B)% (D) W F FE &

The value of current obtained in a moving coil galvanometer is

proportional to
(A)  deflection { O) (B)  resistance ( R)

() magnetic field (13 (D) none of these

e p————— — e

(24747 X1 5008 yeal| Page 147 32
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31 Ewaﬁquﬂaﬂauam ATl 2
(A), | § B yhidy (B) #oft § 3= ufaqu
(€ #oft 4 faer yfoy (D) §HiR 8§ 3= gfa
A galvanometer is converted into ammeter by adding
(A)  low resistance in parallel
(B)  high resistance in series
(C) low resistance in series
(D) high resistance in parallel
32, YRMETE g1 Foehl F Fg W I Jrhr & Tl
(A) FUsell & adl H (B), FvSH & qct & T
(C) HUSelt & ad ¥ 45° T (D) Fusell % a1 4 180° W
The magnetic field produced at the centre of current carrying
circular coil is
(A) on the plane of coil
(B) perpendicular to the plane of coil
(C) at45°to the plane of coil
(D) at 180°to the plane of coil
— 24 /A [ XI1-5003-(31/40) Page 15 / 32
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Fm;nfxgw@ammﬁwaﬁ‘lm%mmmnmgmsh
HZA R TS THS F1 37g9 Ay

M M
n n
M

© = (D)  Mxn

On dividing any magnet of magnetic moment ( M ) parallel (o its

length into n equal pieces, the moment of each piece will be

@w A ® 2

(C) —% (D), Mxn
frefefign 3 @ ¥ Ifrew weifa s 3 -

(&) IIEHR e B chege T
(C)  wiogreshia wered D) T 8 % 7

Which of the following shows hysteresis ?

(A} Paramagnetic materials (B) Ferromagnetic materials

(C)  Diamagnetic materials (D} None of these

Ya Yol m 8 r gl W g fave & am g 2

Ho m B Hom
(A) 4n r (B) 4n r‘2

Fo m. D) YN
(C) e (D)

24 /A [/ X11-5003-(31/40)
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36.

37.

A Hom
dn r (B) %-’%
() Hom | ’
4n .3 (D)  zero
STy RS i IUH AT B P
(C) g um (D) 31y dieear

What is produced by induction coil ?.

(A)  High current (B)  High voltage
(C) Low current (D) Low voltage
TEHE &9 B F1 o e B &
) EEE; B 2
0
2 2
(C) —4‘%0— (D) - 3‘%;

The energy density of magnetic field B is

2 2
[A] B_ (B} §_.
2}.10 lJ-U
c 2= D) =
© D) 5

24 /A /XII-5003-(31/40)
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A

IR I
\n AR AR odte g wRITEdAl w1 @Y gr AT A

(A) T OH B) HEd 7

(C). & 3wA art g D) & A S A

What valuc of alternating current is measured by hot wi,,
ammeter ?

(A)  High value (B) Average value

(C) Root mean square value (D) None of these

39. A ds Seww wRw | g A3 B owad A, 49 ds &9 W Iy

YTl ghm
{A) Bds cos0 (B) Bds sin0
(C) Bdstan0 (D) Y=

—

—’
If magnetic field B is perpendicular to surface area vector ds,

then the magnetic flux on ds area will be

(A) Bds cos® (B)

Bds sin0

(C) Bdstan8 D)  zero

40. yfqamar 1 g gy 2 |
A 3 B Fm
(c) &l D) ¥e l
Unit of reactance is i
() ohm (B) tesla
(C)  henry (D) farad

24 /A [/ X11-5003-31/40)
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1. %@ﬁﬁwmwmmmﬁmg
(A) 1 (B) é
() 21 D) =
Mean value of alternating current in a full cycle is
(A) 1 (B) %
‘ € 21 (D)  zero
42. AR serradl ar qwn faan. @ % o v 6 @, @ 9RE T w1 A
LGRS
(A). cos¢ (B) cos?¢
(C) sin¢ (D) tan¢
If the phase difference between alternating current and e.m.f is ¢,
then the value of power factor is
(A)e cOs® (B) cos?¢
(C) sing (D) tang
43.  AcUfuy ¥ wle Hew =4 gl R
(a), vy d (B) e H
() uig# (D), ¥ & axft
In AC circuit, power is lost in only
(A) resistance (B) inductance
(C) capacitance | (D) all-of these
24 /A /XII-5003-(31/40) Page 19 / 32
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44, T YRUTEA] fagA a1 EdE 1 = 0-6 sin 100 nt B BRI R gy
urn & et 2
(A) 50~ B) 50
(C) 100~ (D) 100

An alternating electric current is represented by equation

I =06 sin 100 nt. The frequency of alternating current is

(A)  SO0n (B) 50
(C) 100~x (D) 100
45.  faga Ava § sgeen smae o ad
(A) DC (B) AC
(C) DCdau AC g\ [b) T ¥ FE T
Current used in electroplating is
(A) DC (B) AC
(C) both DCand AC (D)  none of these
46. 9% A I31 IR il ey 2
(A)  Faae gl @ (B) 3w wiwr
(C) guad gUur § (D) 5ae &g 3
A large virtual image of object is formed by
https://www.bsebstudy.com
(A) concave mirror (B)  convex mirror
(C}  plane mirror (D)  concave lens

24/A/XII—5003-[31;401

Page 20 / 32
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Fo WIS N @@ oA s
a A p
i B 2
(C) P xp :
=52 (D) P +F,
Powers of two | : f
¢nses kept in contact, are P, and P,. The power 0
€quivalent lens will be
P
Ay =L )
B 2
P, (B) 2
(C) P
) RxR (D) R+F,
18.  Tor® @1 &1 qtneed wed W BT 2 2
(A) e B) en
(C) e (D) =
The wavelength of which colour is minimum ?
(A)  Violet ~(B) Yellow
(C) Blue (D) Red
49. wyqy %1 fmfor frm %1 g @ ?
a) faEdA (B)  SehIviq
(C) g (D)  =of-fadgur
Which causes the formation of rainbow ?
(A)  Diffraction (B)  Scattering
(C) Refraction (D)  Dispersion
24 /A /XI1-5003-(31/40) Page 2'!1 / 32
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50. ©gw qEesl d wiafera v 2
(A) ATt TE (B) aTedfas T I
(C) 3wl 3T e (D) T T e
Image formed in compound microscope is
(A)  real ax;d erect (B) realand inverted
(C) virtual and inverted (D) virtual and erect
51. T % st 61 Yo W R weg ® w0 fafa g 2
(A) dfas AR Ied (B), drdfess T Hi
(C) © e I Hen (D) I T I
Image of any object formed at the retina of human eye is
(A) real and in{rerted (B) real and erect
(C) virtual and erect (D) virtual and inverted

52, et otg &1 SHGER fha1 ST @

() e R AN H B) < g dw A

) wugkdud (D) fegwar ®
Convex lens is used in

(A) short-sightedness (B) long-sightedness
(C) presbyopia (D)  astigmatism

24 /A [ XI11-5003-(31/40)
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3.

HIEHE &7 i1 e e 117 ]
T Hfien 23 4 0 3 J

(B) , ushiefs
€ fady |

(D) yau

T
he coloyr of sky is blye due to

(A} interferencen
cnce (B) scatlering
€)  di i
iffraction (D) polarisation
A Fe

~HE Wt % Wy s § Bw A e g 2
) et St (m)  aonded % g
(€) worRed & ot & wudt (D) wirded % i % sy

The fringe width in interference of light due to two coherent

sources 1s

A roportional to wavelength

P
(B) inversely proportional to wavelength
(C) proportional to square of wavelength

(D) inversely proportional to square of wavelength

Wﬁm%aﬁam—mﬁmﬁﬁ,aﬁmﬁ

() eard @ (B) 3™ ®AH

() et FuE E (D) T A B A

Two SOUrces of monochromatic light is coherent, when their
(A) intensities are equal (B) amplitudes are equal
(C) phascs are equal (D) none of these

24 /A [ XI1-5003-(31/40)
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5o, S -giel queH 2

_ _h

(A) A=hmv (B). r=——
2

C) A= (D) A=hv

v

de Broglie wavelength is

(A)  A=hmv B r=L
(C) y=me’ D) A=hv

v

S57. HIG U UG B
(A) T % GRS YA R (B) e~ aEd e
(C) T % T=ehld YWE W (D) ferga-gh IO T
Photocell is based- on )
(A) chemical effect of current
(B) photo-electric effect
(C) magnetic effect of current

(D) electro-magnetic induction

58. e fortol @ @

(A) FRETAGIC] (B) WAl %
€) g * (D) WH3 %
Cathode rays are group of

(A) electrons (B) protons
(C) neutrons (D) atoms

24/ A/ X11-5003-(31/40)
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59. Hearafa e 6 - 37 2

(A) 06931 x A (B) 10g}1{JJ
© 06931 5 Hrga Iy
A D) 58931

Half-life of radioactive substance is

2

(A) 06931 x X (B) logio
0-6931 Average age

C), —2==

(©) A (D) 06931

60. & TS H S.I. THE 2

(A) e B) &

(C) iy X (D) & ?

S.1. unit of decay constant is

(A) metre (B) hertz

(C) per metre ' (D) metre?
61. oo Th? & T T # =gl i wem

(A) 320 . (B) 230

(C) 140 | (D) 90

’ . y 230 .
Number of neutrons in an atom of g{]I’I‘h is

(A) 320 (B) 230
(C) 140 (D) 90
62. PN i SEE T IW FW & TH
(A) Tad® W@ (B) €reh i g
(C) TG AT D) Rewd i a@

24 /A/XI1I-5003-(31/40)
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63.

04.

65.

1117

P-N junction diode is used as
(A)  an amplifter (B) an oscillator

(C)  a modulator (D) a rectifier

fasht dieed / am # wgH 9 97 H FEd 8

() Qe (B) WaU®
(C) THE - (D) TeEswrdl
Instrument used to increase input voltage/current is called
(A) oscillator (B) amplifier ‘
(C) diode (D)  rectifier

e et ah gR&\ el (v ) am Ses At Rawt $ 1 (A . B) @
TH §ieT & A1 98 gR 8

(A) » AND (B) OR
(C}) NOR (D) NOT

If in a logic gate output ( Y') is obtained by the product of its both

inputs ( A. B), then the gate is

(A) AND - (B) OR

(C) NOR (D) NOT
Fgares ° afia St Haue Ht el T B 3
(A} 1leV (B} 1loev

(C) 100eV (D). 0-01 ev

_....--—"""’_-
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The wi i : i
width of forbidden cnergy gap in the semiconductor IS

approximatcly
A TeV (B 10eV
(C} 100ev (D) 001V
66. TINES 3iF Ugh f wEn 27 ) Ronurd vgh § FAged Fen A
(A) (10011}, (B) (10111]),
(C). (11001}, (D) (11011),
The equivalent number of dcimal number 27 into binary number
system will be https://www.bsebstudy.com
(A) (10011), B) (10111),
(C) (11001), (D) (11011},
67. @Wﬁwﬁﬁ,aﬁﬁﬁmmsomé.ﬁﬁﬂnm@vﬁ
(A) 25 Hz (B) 50 Hz
(C) 100 Hz (D) 200 Hz
In full wave rectifier, if input frequency is 50 Hz, then output
frequency will be
(A) 25 Hz (B) 50 Hz
() 100 Hz (D) 200 Hz
PRI e Eﬂf;}(ll-sum} *3”43] Pape 27/ 32
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68.

69.

70.

“1?]
ﬁﬁﬁﬁﬁﬁwwmaﬂﬂmmaﬁﬁﬁg
(A} O

B) TR
(C) W _ D) ¥
The device which works of both modulation and demodulation is
called
(A} Laser | (B) Radar
(CY Modem (D) Fax
wan 39E H gudi 6 wag | gf 2
(A) 36000 fes (B) 36000 HiA
(C) 3600 fFh (D) 36000 HIe

Distance of communication satellite from the surface of the earth s

(A) 36000 km (B) 36000 mile
(C) 3600 km (D) 36000 metre
gl & Area TR s R

(A) W ® e

c, ™A (D) Hd= 3

Attenuation is measured in

{A) ohm {B} decibel
(C) mho (D}  siemen
24/ A/ X11-5003-(31/40) - g;j;“"’
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SLERE | / SECTION - B
Y ‘ﬂﬁw oy
. / Short Answer Type Questions
- Iﬁzowaﬁ?h?fﬁ»ﬁzomﬁé ¥ | aiw &
2 3% Freffa & . e e
) I10x2=20
Q‘uEStIUn NOS. Ito 20 are Sh 2
‘ ort Answer Type. Answer any 10 questions.
Each question carries 2 marks -
1 S 10x2=20
: [E;E“%imﬁﬂﬁ mﬁ%ﬁ%ﬁlmm oees fadl 2
Define intensity of electric field at any point. Write down its S.I.
unit.
2. '*QQR%_%sz10‘6cm%gamagimwéga%gamw%1
I8 8 frfa Y wormw fra 2 o 2
An electric dipole of dipole moment 2 x 10 ®cm is kept inside a
closed surface. What will be the net flux coming out from the
surface ?
3.

6 uF o @ulfE %1 fv@id 10 V@ 20 v o 33 @ 38 ot § 3y 7
o 2

Find the increase in energy of a condenser of capacity 6 pF on
changing potential difference from 10 V to 20 V.

4. ¥rflg w@ am-atdg wfdy =0 dd & 2 A1 o1 wE-um e i

1+ %+ 15
What are ohmic and non-ohmic resistances ? Write down one

example of both.

5. e gresh adi | € 2 ﬁaﬁﬁﬁmaﬂﬁmmmﬁﬁzm%a

1 +1
What is electromagnetic wave ? On which factors does its velocity

in vacuum depend ?

24 [AfXII-5003-(31/40)
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10.

11.

12.

13.

14.

15.

16.

| 117 |
aTgaeiiea w1 2 2 gweh &) afrefrd aATEC by,
What is cyclotron ? State its (wo limitations.
geel % & grarehta ae =i afonfia H b
Define two magnetic elements of the earth.
T uma R 2 gEen s ferfan L+
What is eddy current ? Write down its utilities.
TG § BaTelt et -wifl i o 2
Write down energy-losses in transformer. .
TehTY % YT I A | 2
Explain polarisation of light. _
SHifers Fw 1 R 2 SH EYEE W e | 1+
What is critical angle ? Write down its necessary conditions.
Rl arTfE g W 10" geieg fean S B 38 9% W 3A a6
TOAT | 2
10'° electrons are placed on an uncharged body. Calculate the
charge produced on the body.
p-2T5T AN n-TFY HLATEh § Il W R - >
Mention the difference between p-type and n-type semiconductors.
sz % 3 et # Rl o
Write down two uses of shunt.
redi o =R 2 )
What is wattless current ? -

SepTYl-3cEdE SHATE T B P THI Th 39w ford Lo

What is light-emitting diode (LED) ? Write down its one applicatio

24 /A /XI1-5003-@31/40)
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18.

19.

20,

ﬁimmﬂéwlnm ), & auf, qunef) § #2ed | ’
Convert binary number { 1101 ), into decimal systerm.
www Y1 Fax s sqr@dr i) e
Explain www and Fax,

; 2

Ty frges 3t v gogd & 9 A ;
nd nuclear fusion.

Explain the difference between nuclear.fission a
2

et frars s ¢ 2 g A ol
What is Rydberg constant ? Write down its unit.

Zd 39T U¥H / Long Answer Type Questions

m#wz:#zsa?a‘mhm#fwsm#%mifm&fﬂ

5 oiF Freffia & :
Question Nos. 21 to 26 are Long Answer Type

3 questions. Each question carries 5 marks :

21.

22.

23.

3x5=15

Questions. Answer any
3x5=15

%@%@W%vﬁgﬁﬂﬁwimwﬁgmmﬁww

&sieh ITH Hi 5
What is electric dipole ? Find an expression for electric potential at
any pomt due to an electric dipole.

1 AT 1 8 ? m%fﬁﬁ%@%ﬁs@ﬂﬁﬁﬁrﬁmw

= TTH ST 5
What is interference of light ? Find an expression for fringe width
in Young's double slit experiment.

e 3 3ft 3 1 3@ {71 IR G F F I H 0 H .

Mention the defects of human vision and describe the method to

remove them.
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25.

26.

[117)
g, FTgEs qun ey ggrel $ 101 # ferd) 0
Write the properties of diamagnetic, paramagnetic  and
ferromagnetic materials.

ﬁﬁrﬁﬂﬁqﬁﬁﬁaaﬁmmsj,mﬁlﬁl N %0 arefl, | o
o - P R & frg wee ) A B 5

- . Find the self-
Define self-inductance and write its S.I. unit. Find e self
inductance for a solenoid of N turns, length | and radius 1.

p-n-p A1 n-p-n;ihqﬁfﬁmﬁﬁwaﬁaavhﬁl 5
Describe with diagram the working method of p-n-p and npn

transistors.
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